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For each question from 1 to 30
answer. Make your choice (
the Optical Answer Sheet.

1. Look at the diagram below.

What materials are suitable for makin

respectively?

A
B:
C:
D:

(1)
3

Waood
Plastic
Rubber
Metal

A and B only
A and D only

Rosyth School/Semestral Assessment ZJ’Sciencc/P:l':'fOOS

Booklet A {60 MARKS)

. four options are given. One of them is the correct
1.2, 3 or 4). Shade the correct oval (12,3 0r4) on

T Handle

~TTCooking Wok

g the handle and cooking wok

(2) Aand Conly
{4} BandC only

{Go on to the next pagé)
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The flowchart below shows the properties of some materials.

( Start J
Yes
Does it break Is it (N w
easily? transparent?
‘ —Y Yes
! Is it flexible? J“G

No

z
N

Which of the followxng matertals would W, X, Y and Z most likely
represent?

w X Y Z

(1) Glass - Porcelain Rubber Wood
(2) Glass Plastic Porcelain Wood
{3) Porceiain Wood Glass Rubber
(4) Rubber Porcelain Wood . Glass

2 {Gg on to the next page)
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David carried out an experiment as shown below.

—  Weight

[ 1/

——— Matenal

T Waooden block

- He placed 1-kg weights on the material unitil the material broke. He

conducted the test on 4 materials P, Q, R and S of same size andi
thickness.

He recorded the resulis in the table as shown below

Materiais Number of 1-kg weights required to
break the matenai B
P = 40 ]
Q 30 ]
R 70
A 50

Which material is the best for making a bookshelf?

(1 P (2) Q
B8 R 4) S

3 (Go on to the next page)
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4. Below is a piclure of a window. Window panes are usually made of glass.

"-\_\_\_‘.
T Window panes

Why is the glass chosen for making window panes?

Az Glass s walerproal,

B Glass is non-magnedic.

C: Glass is a good conductor of heal
1: Glass allows light 1o pass theough il

(1)  Aand D anly (2} C and Daonly
(3) A, BandC only {4y B, C and D only

5. Which one of these animals have young thal do not leok like their parents

when they are halched?
(1} Cal (2) Frog
(3) Grasshopper (4} Cackroach

4 {(Go on to the next page)
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Study the four life cycles given. Which of the following shows the correct
order of stages in the life cycle of an insect?

(1) Adult (2)

7 \ T Pupa \

Larva ’ Aduit

3) (4) s
Egg -

/' \\ LLarva
Larva Pupa / \

Nymph Pupa
. - e

Adult ) > Adult

ol

In which stage of the fife cycle of a butlerfly does moulting take place?

(1) Egg 2) Larva -
(3} Pupa (4) Adult (;1/

5 . (Go on to the next page)
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The graph below shows the number of days of each stage in the life cycie
of an insect. Please use il {o answer questions 8 and 9.

Days

F'S

12 - T
. 1

10 - —

4 —

]

Egg Nymph

S

—» Slage

Adualt
male

Adult
female

8. Which animals’ life cycle can be represenied by the graph above?

grasshopper

(1) butterfly (2)
mealworm beelle

{3)  mosquilo “4)

9. How many days would the insect take 10 become an adult after the eggis

hatched?
(1}  6days {(2) 8days
3) 10 days (4) 12 days

10.  Mei Ling wanted to find out if temperature of water would affect
germination of seeds. Which of the following variables must she keep the

same for a fair experiment?

A: Temperature of water
B: Amount of water
C: Number of seeds

D: Type of seeds

C and D-only
A, B, CandD

(1)  AandB only @
3) B,CandD only 4)

6 (Go on to the next page) _
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11 Gerald set Up an experiment as shown in the
his experiment,_ he observed that th
containers but not in others.

diagram below. At the end of
€ seeds grew into seedlings in some

Put in t{Le dfil’k
Damp
colton
wool

colton
wool

'/
o i
! Container A I __-"'-’ Container B I

Put in light Put in the dark

~ )
N\—Dry cotion
o wQol

’ Container C ' l Container D i

Which containers would have’seeds growing into seediings?

(1) Aand B only (2)

A and C only
(3) A, BandcC only 4)

B,C andD

12, The diagram below shows a seedling.

Which part provides food for the seedling?

(1) A 2) B
3) ¢ 4) D

(Go on to the niext page)
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13.  Three objects K, L and M are placed on different weighing scales as shown
below.

Which of the following deduction{s) can be made about the objects?
A: M has a greater mass than K.

B: K, L and M have the same volume.
C: Kand L have the same mass and volume,

(1) Aonly {2) Conly
{3) BandConly 4) A.B and C

14.  Which one of the following is a matier?

(1) cloud (2) shadew
(3)  light 4) sound

8 (Go on to the next page)
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The diagram shows two beakers, X and Y. Beaker X contains smait swones
and Beaker Y coantains waler up to the 30ml-mark.

N

smail
sianes

il

Beaker X Beaker Y

The water in Beaker Y is then poured into Beaker X.
Which drawing shows the content of Beaker X after the water from Beaker
Y has been poured into it after some time?

(1) (2) -

(3) )

9 (Go on to the next page)
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16 Lucy held an emply, sealed plastic bottle in a pail of water untif it is fully
submerged, as shown in the diagram below.
As she unscrewed and removed the cap, she observed some bubbles and
some water entered the plastic bottie.

screw-on cap

empty plastic
bottle -

j\ —

Which properties of matter could be deduced by the above experiment?

A Air occupies space. -

B: Air can be compressed.

C: Water occupies space.

D: Water has definite volume.

(1) AandcC only {2) . BandD only
(3) A .BandcC only 4) A B,CandD

17.  The table below shows the melting points of substances P.Q,Rands.

Substance Melting Point (°C)
P } 49
Q 5
R L 23 -
e e —

Al 20°C, which of the above substances would have changed from a solid
state 1o a liquid state?

(1)  Ponly : (2) Qonly
(3) PandRonly (4) Qand S only

10 (Go on to the next page)
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18. A glass of coid orange juice is put into a basin of tap water as shown in the
diagram below.

glass

{ap water

Why does the tap water in the basin become cold after some time?

(1) The heat from the orange juice is transferred 1o the tap water.
(2)  The heat from the tap water is transferred to the orange juice.
(3)  The heat from the tap water is transferred to the sufrounding air.
(4)  The heat from the orange juice is transferred to the surrounding

air.

19. Gioria set up the experiment as shown below. When the lorch is lighted, a
shadow is cast on the screen.

1| ‘

Lighted torch - Object Screen

What must she do to make the shadow bigger?

A.  Move the lighted torch towards the object
B: Move the object further from the screen
C: Move the screen towards the object

(1) Aonly (2) Conly
(3) Aand B only (4) BandConly

11 (Go on to the next page)
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20. The diagram below shows three objects that are placed in a dark room.

When the torchlight is shone on the objecls, a shadow is cast on the
Screen as shown.

T A
e / \
T [
f‘ “--._1_ J ‘\_j \ e
T X
p - T “—5%_\____“::‘_“
What materials could P, Q and R be made of?
] P B Q Y
(1) Clear plastic Frosted glass lron
2) Cardboard —_ _{ Rubber Clear
{3j Clear glass Clear piastic Cardboarqm_
(4) Clear glass Rubber Ciear plastic

21, Fanny wanted 1o find out how tength of shadow changes al different times

in a day. She observed a’'pole and drew the shadows P,Q,andRat3
different limes.

fal

At which times did Fanny draw the shadows P,Qand R?

P Q [ R
1) 8 am 9 am i 10am
{2) 9 am 4 pm ' 11am
(3) g am noon N 4 pm
4) 4 pm noon 9am

12 (Go on to the next page)
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23.
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John placed an eraser as shown in the diagram below.

Mirror

"
I

Eraser Tube A

Cardboard

Which tube A, B, C and D would enable you to see the eraser?

(1) Aonly (2) Conly
(3) B and D onty ) {4) CandDonly

Four steel rods of equatl thickness but different lengths were heated o the
temperatures indicated in the diagrams below. Which one of the steel rods
has the least heat?

20cm TS5cm
M = > (2) < ,
-0 ) ]
60 °C 60 °C
3 15cm {4) 10cm

A
L 4

3
-
£

40°C 40°C

13 {Go on to the next page)
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24 The tempearalures of wo beakers of water A and B wena laken. Tha hot
waler and the cold wator were poured inte Beaker G, The lemperalure of
Heaker C was laken after some tlime.

Study the talde below and choose the carrect readings 1aken of ihe
lemperatures in the three different baakers,

H -

Boaker A Beaker B Beaker C
Hot water - Cold water Mix ture
50 mi 50 mil 100 il
What is the likely temperatures of beakers A, B and C respecively?
F___Bealmrﬂ - ‘BeakerB | BeakerC |
- (1) L s~ 20°C _forc .
_BC W, o W
?5..'!.:“ T 'IEI'T: 45°C
B (IS S SR N {2

25, Sludy the graph below. -

Tamperature | *C)

RE

Which one of the following examples will show a similar pattem o the kine
graph as shown abave™

(1} A polof soup being warmed,

(2}  Anice cube taken oul from the freezer.

(3) A cup of coffee being heated in a microwave aven,

(4) A bowl of freshly cooked prawn noodles lefl on the lable.

14 (Go on 1o the nexl page)
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27.

coloured
water

Rosyth School/Semestral Assessment 2/Scicncer P4/2008

Jeya prepared two conical flasks, X and Y, as shown below.

e DAITOW ——— Narrow
gfass {ube giass {ube
§2 cm ' 5’2 cm
—— slopper Jl{——— stopper

coloured
water

—— colotred

X Y

Later, he placed the two conical flasks in beakers of hot water and ice for
the same time. He made his observations as shown befow.

T

ice
coloured

\ il water

Which of the following would jose heat after the two conical flasks were
placed in the beakers?

Hot water

lce
Coloured water in flask X
Coloured water in flask Y

A and B only (2) CandD only
A and D only (4) BandC only

16 {Go on to the next page)
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Z28.  In some places, telephone wires are hung on poles above the ground.
L
\2——\_7/
Why are the wires hung loosely between the poles?
(1) It 1s to allow for expansion on hot days.
{2) it is to aliow for contraction on cold nights.”
(3} It is to allow for movement on windy days.
(4) Ht1s to allow birds to rest on the wires all the time. -
25.

A U-shaped magnet is lowered completely into a box of pins.

Which one of the following diagrams shows what it looks

like when it is
fifted from the box of pins?

{1) (2)

3) (4)

17 (Go on to the next page)
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30.  Study the diagram below. A piece of X is placed between the U-shaped
magnet and the paper clip. The paper clip remains floating.

U-shaped magnet

/"—_*——-—__L_
retort stand

4_____/&)(
;? paper clip

Name the material X could be made of.

A: Glass

B: fron

C: Steel -

D: Plastic

(1)  AandBonly (Z) AandD only
{3) BandConly (4) CandDonly

End of Booklet A

18 {Go on to the next page)
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Booklet B (40 MARKS)

For questions 31 to 46, write your answers in this booklet.

31. The diagram below show the life cycles of two animals, Gino and Ding.
Stage 1
Slage 1 o O -
U A
ST ﬂ\ Stage 4 / \\\
/ (ﬁ Dino
o Gino Cg‘
{%:3 / Stage 2
Stage 3, \\_x—_r_//’ Stage 2

Slage 3

(a) Based on the diagram above, state one similarity between the two life
cycles. {1mark) -

(b} Based on the diagram above, state one difference between the two life
cycles. (1mark)

{c) . Which anirnal is more likely to spend part of its life on land? Give a reason
for your answer. (2marks)

19 {Go on to the next page)
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32.

(@)

(b)

33.

a

(b)

Rosyth School‘Semestral Assessment 2/Science/P4:-2008

Study the diagram below. Water surface

Why is the wriggler positioned in such a way in the pond? (Tmarig -

O SR

Whrgglers grow into mosquitoes. What is one way in which they can be
eliminated before they turn into mosquitoes? (1mark) -

Hadi prepared two set-ups as shown below.

Moist codon Moist cotton
g\@ é& wool /z g wool

Bean seeds

Woculd Hadi be able 1o use the two set-ups lo find out if water is required
for germination to take place? Explain why. (1mark)

What snould he do if he wanted to find out if light is required for
germination to take place? (1 mark)

20 (Go on 10 Ihe nex« payey
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34, Mrs Tan grew tomato plants in her garden. She measured the height of
the plants over a pernod of ime.

She recorded the results in the table as shown below.

T e

Number of week

]
Average helght of !
plants I

i

She used the results to draw the graph.

— 1
50 f—— P . S
S ,
Ve _

40 ] .:/ — —_———
30 44— A I
20

1G

i-—-a_,_—\—ﬁ_
0 5 10 15 20

Number of weeks

(@)  Label the y-axis in the given box. (1mark)

(b)  Plot the points with crosses (x)and draw the line graph. (2marks)

21 {Go on to the next page)
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35. Tom and Peter set up the following experiment. A 100-mi glass was filled

—

with water and inverted into a basin of water as shown below.

e {

! = N
I‘“__“_j’ I < i water

l ‘“__ _ — i _-_, 7‘__— - r
glass _;;_;_j_f* T jr S !—~— basin
- — 1. - =T - '

e e e e

First Tom used a straw 1o biow some air into the glass. The height of the
water was recorded. Then Peter blew some dirinto the glass and the
height of water was recorded. The results were recorded in the table

beilow. -
N o Sslraw
/’\:
—_ ______'Hﬂ‘af .
— = = air
- o ﬂ—__——__" ———— water
—_r,._. \’_/‘-:__‘_ _'__ i — -":—-
[ Height of water in the glass (cm)
At the start of experimnent 100
After Tom had biown 70
After Peter had blown 30 )

(@) Why has the height of water in the glass decreased? (1 mark)

. (b)  Who has blown more air? {1 mark)

22 (Go on fo the next page)
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36. Using the set-up below, Samy carried out an investigation to find the
volume of four different objects, P, Q. R and S using the set-up as shown

below.

‘\— r‘ r

. - Measuring ——Measuring
— 100 cylinder Volume T Cyiinder
— of object 4

50

10— | Object
Before

He put object P into the measunng cylinder and noted the new volume of
water. He then recorded the volume of the object.

He removed object P and repeated the steps for each of the other 3
objects. Finally, he plotted the graph below {o show the volume of the
objects for each of the 4 objects. - -

70_?
60 —
50 —
40 —
30 —

20 __|

Volume of object (em?
5
E

i0

J—

™y
4

NN\

SANNNNNNN\ ey
INNNNN\N

NN\

Object

(@) Armange the objecis P, Q, Rand S in order, beginning with the one with
the smallest volume {1 mark)

(b) If object P is put into a measuring cylinder containing 50cm™ of water, weiad
would be *he new water levet in the measuring cylinder? (1 mark)

23 : (Go on to the next page)



37.

- (a)

(b)

Rosyth School/Semestral Assessinent 2Scrence/P4/2008

Study the diagram below careiully.

Handle

Kellle

The handle of-a kettle is not made of met

al. Name the material that the
handle is made of. {1mark)

Give a reason for your answer in (é)_ (1mark)

24 (Go on to the next page)




38.

Gina wanted to conduct an ex
mells is affected by the tem

Rosyth School/Semesiral Assessment 2/5ciencef 472008

-

A

C

~
4

s vty

penment to show how quickly an ice cube
perature of the waler used. She set up 4
beakers, A.B. Cand D of similar size, as shown below.

i Temperature of Temperature Temperature of Temperature | )
water of water water of water )
50°C 90°C 50°C 90°C
L
(@) Gina chose to use Beakers A and B for her experiment# Explain why she
made the wrong choice. (2 marks)
YR CEMEFT
(b)  Identify the following variables in this lﬂzf(ggfﬂga«eﬂ {2 marks)
't Variable changed :
(i1} Variable to be kept the same :

25

{Go on 1o the next page)
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39. Three basins of water, A, B and C, are al different temperatures. Nichoias
dips his right hand into Basin A and his left hand into Basin C. Five
minutes later, he dips both of his hands into Basin B. He finds that the
water in Basin B feels warm to his right hand but feels cold to his left hand.

right hand left hand

Basin A Basin B Basin C

(a) Based on Nicholas’ observation, maich the basin with the temperature
readings given below. (1 mark)

Temperature of water (° C}) Basin
25 B
__60 I

) Though the temperature of the water n Basin B was constant at 25°C, it
felt warm to Nicholas’ nght hand and cold to his left hand.

What does this tell you about our sense of touch to measure temperature?
(1 mark}

26 (Go on 1o the next page)




40.

200 mi of water

(a)

(b}

(c)

Rosyth School/Semestral Assessment EI'Scicncc:'Pfl.’.?OOS

Study the diagram below. Beaker A containing 500ml of water and Beaker
B containing 200m{ of water at room temperature were healed uniil the
water boiled.

Beaker A Beaker B

Which beaker of water, A or B, will boil faster? {1 mark)

The graph for Beaker A was plotted to show how the femperature
changed with time.

Draw the graph for Beaker B to show how the water in Beaker 8 reached
100 °C. (1 mark) )

A

100 —4-- S

)
@
l

Temperature of water (°C)

P

i —

Time

Explain why Beaker A has more heat than Resdker 8 at 100°C? {1mark)

27 (Go on to the next page)



Rosyth School’Scmestral Asscssment 2/Science/P4./2008

41. A melal mug and and a glass were stuck together as shown in the
diagram below.

Metal mug

Glass

- Kenny tried pulling them apart but he could not separate the two
containers. His mother provided him with some ce.

(a) Using only what he was given, what could Kenny do to separate the two
containers? (1 mark)

(b) Explain how the two containers were separaied. {1 mark)

28 (Go on to the next page)




Rosyth School/Semesirai Assessment 2/Scicne e/ PA200R
42. Three thumbtacks, E, F, G, were fixed 1o the melal rod by using the same

. heated by a candie flame as shown
beiow.

”\ retort stand

! thin metal rod
~®
]

thumbtack
stuck on
with wax

candle

(a) Whichhthumbtack would fall last? (1 mark)

{b) What does this experiment show? (1 mark)

29 (Go on to the next pége)
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(2)

(b)

Rosyth School/Semestral Assessment 2/5cience/P4/2008

A torchlight from above was moved from position Q lo position P and then
to position R. A shadow was cast when the torchlight was switched on at
all the three positions.

N

~
NN
\

—Reclangufar Box

Describe what happens to the length of the shadow cast on the floor as
the torchiight moves from position Q to P? (1Tmark)

Draw on the diagram to show where the shadows were cast when the
torchlight was at position Q and position R. (2marks)

30 (Go on to the next page)
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{a)

()

(<)

Fusyih Sehool/Smnestral Assessnwns L5¢ ences P4 3000

George sel up an expenment 2s shown in the diagram below (o find oul how
light helps us to see things.

T,

Madified periscope J ?‘?’Emﬂﬂdﬁ 2y

_____________________ Ground level

Bal
Draw mirrers in the modified periscope such that they allow George 1o see
The ball. (1mark)

Diraw the light rays which enable George to see the ball, Indicate the
directions of the light using arrows in the figure above. (1mark)

Using the above diagram name an advanlage of using this modified
penscope. (1mark) -

— —

3t (Ga on lo the next page)
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(1)
(ii})
(i)

(b)

Raosyth School/Semestral Assessmens 2fScicnccfP4!20()3

The diagram below shows three floating ring magnets on a pole.

——

Write either ‘N-pole’ or ‘S-pole’ in the blanks provided. (1 mark)
The North Pole has already been marked on C.

A

B:

C: North Pole

What would happen if all the magnels were tumed the other way so that
the other poles of A, B and C, faced one another? (1 mark)

32 (Go on to the next page)
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Study the diagram below.

Magnet Z ' Rod X

(a)
(b)

When Magnet Z is placed near rod X, part A and part 8 were atiracted to
the South Pole of the magnel.

Which of the following information is “True’, ‘False’ or ‘Not Possible to
Tell’? Put a tick () in the appropriate columns. (2 marks)

True Failse Not Pos. Poss:ble
To Tell

ﬁod X is nol a magnet

The North Pole of the magnet will
definitely repel part 8

(c)
{d}

Magnet 7 is a weak magnet

Rod X is made?of aluminium

End of the paper

33 {Go on to the next page)
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life:n Jand. It has

s;3 stages while Dion has 4.
i, s more likely to spend paito
developed legs.and:has no tail at the stag
32)a)1 can bregthe thmughthebreathmgtube.
b)Spray.oil'on the water surface to prevent the wrigglers to
breathe and they. will die of lacking oxygen. Co
33)a)Ha§if' -woul'd, notbe ab!etoﬁndoutif water is required for-.
germination. The two set-up have water to germinate. . ..
E b)He should put one set-up in the light and the otherin the dark.

3d)ab ] L

Elthy

26 4—---

‘ Avrgy hoispd 1f plants

Number of weeks
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35)a)Air occupies space. The water had to flow out of the glass to
give some space to:thé:aj

b)Peter hastbwn m

B The new water levei Is 80cm3

37)a)The handle is. made of wood

- “¥h)Wood is a poor conductor of heat and n you touch the
handle, it W|ll not bum your hand.
38)a)The volume of water.
b)l)Temperature_water
‘©)Number of ice cu

40)a)Beaker B
b) L E

i
1
i

Temperatore of water (*C)

Time

C)Beaker A has more water compared to Beaker B.

~ 41)a)Put the ice in the mug.
b)The metal mug lost heat and contracted.

Page 2




42)a)Thumbtack E

b)This expemﬁent shows that heat: travels from a hotter place
to a colder; siace.

a)The length of the shadowbecomes shorter.

c)t allows you to see ' what is underground.

45)a)i)South ii)North
. b)They will still repel to each other.

_46)a)T b)F c)Not d)F
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